REGISTRATION NUMBER :
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EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 1 - In the following question, select the related word from the given alternatives.
Car:Road:: Ship:?
Frafafea vy 8 Ry 7y foredt & @ Hefda < ot gi-g)

MY : TS : : T STENT 2 ?
Options:

1) Water

STet

2) Air

arL

3) Road

Tqsh

4)'Both Air and Water
IR qAT ST &l

Correct Answer: Water
STt

Candidate Answer: Water
STet

QID : 2 - In the following question, select the related letters from the given alternatives.
GLOW : FJNU : : PTEL : ?

it my & g mg foehedt & & Tfda srert a6t gl

GLOW : FJNU : : PTEL : ?

Options:

1) ORFN

2) ORDJ

3) ORJD

4) OPNF
Correct Answer: ORDJ
Candidate Answer: ORFN

QID : 3 - In the following question, select the related number from the given alternatives.

5:124::6:?

FrafafEa v Ry 7y fawedt & @ H&fda dwear st gl
5:124::6:?

Options:

1) 215

2) 216

3) 217

4) 220
Correct Answer: 215
Candidate Answer: 215

QID : 4 - In the following question, select the odd word pair from the given alternatives.

FfafEa v A Ry g foredt 7 & fowm <reg g &l gy

Staff Selection Commission

& =
(Government Of India)
356

Challenges

CANDIDATE NAME :
EXAM START TIME : 10:00:00 EXAM
DURATION : 01:00 Hrs
TOTAL NO OF QUESTIONS : 100


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=8201000774&scode=103&key=8c439c834f1b4b6586146d9a2fb87c8c

Options:
1) Error : Accurate
T : e
2) Careless : Casual
: ATURATE
3) Strength : Lethargy
o : I
4) Gloomy : Cheerful
IaT : STHfed
Correct Answer: Careless : Casual
3 : ATIRATE
Candidate Answer: Strength : Lethargy
g gt

QID : 5 - In the following question, select the odd letters from the given alternatives.

Frafafea vy Ry g fahed 7 € faww sreri ot gi=g)

Options:
1) FUGT

2) KPLO
3) DWEV

4) CWDX
Correct Answer: CWDX
Candidate Answer: CWDX

QID : 6 - In the following question, select the odd number pair from the given alternatives.

fafafea vy 8 Ry 7y faredt d @ fowm e gt gl
Options:

1)11-120

2)17 - 290

3)21 - 442

4) 12 - 145
Correct Answer: 11 — 120
Candidate Answer: 11 — 120

QID : 7 - Arrange the given words in the sequence in which'they occur in the dictionary.

1. Pragmatic
2. Protect

3. Pastel

4. Postal

5. Pebble

frfafad el sl areaanisr & S11 aret s & STER ford|

1. Pragmatic
2. Protect

3. Pastel

4. Postal

5. Pebble

Options:
1) 43521
2) 35412
3) 34512

4) 43512
Correct Answer: 35412
Candidate Answer: 35412

QID : 8 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
QPRON,?
e SrehH feam mar 8, O € ueh ue g &1 Ry e freredt & & ag 9@l fereu g, St srehd at g R

Q,PRON,?



Options:
HM

2)L
3)0

4)J
Correct Answer: M
Candidate Answer: M

QID : 9 - In the following question, select the missing number from the given series.
6,9,15,24,39,63,?
frafafea vy 8§ Ry 7 et & @ g ofe 31 hifSgl

6,9,15,24,39,63,?
Options:

1) 97

2) 115

3) 102

4) 124

Correct Answer: 102
Candidate Answer: 115

QID : 10 - P and Q are brothers. P is the father of S. R is the only son of Q and is married to U. How is U related to S?

PIuTQWiE g1 P, S &I fUd &1 R, Q & ehHTS G & duT g U & fatfega 81 U, S ¥ fohe UenR Haifrd 82
Options:

1) Sister-in-law

aqreft

2) Mother-in-law

a9

3) Sister

Rl

4) Mother

HTAT

Correct Answer: Sister-in-law
areft

Candidate Answer: Sister-in-law
areft

QID : 11 - Nine years later, age of B will be equal to the present age of A. Sum of A's age 3 years later and B's age 4 years ago is 76. If C is half of the present age of B,
then what will be C's age (in years) after 10 years?

=t o a1, B I 31Y A Sl IIHT 311 o SRISR BT A @i 3 atf e <t Sy JuT B Al 4 a Ugel i 31mg <l AT 76 &1 A C, B i aciAT S &1 SeT 8, at 10 a¥ a1g C & 311y, (It #)
T ghft?

Options:
1) 32

2) 36

3) 27

4) 31

Correct Answer: 27

Candidate Answer: [ NOT ANSWERED ]

QID : 12 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Herringbone

g Mg u #, e feeat & @ a8 <res gAY St iy 71Q 2reg & s1erRi ol T shedh Tal ST ST ehdT 8 |
Herringbone

Options:

1) Biner

2) None

3) Bane

4) Hinge
Correct Answer: Bane
Candidate Answer: Bane



QID : 13- In a certain code language, "NIGHT" is written as "ODDGM" and "DARK" is written as "GOYC". How is "GREEN" written in that code language?

U fafre die aer &, "NIGHT" &t "ODDGM" foraT STrar € 9T "DARK” &t "GOYC" foRar STraT &1 39 i mom & "GREEN" & fohe e fora saam?
Options:

1) IABPF

2) MCBNB

3) OGHVL

4) FPBAI
Correct Answer: IABPF
Candidate Answer: IABPF

QID : 14 - In the following question, correct the equation by interchanging two signs.
4x3-6+2+7=8
fFrafofaa uyr §, gt 3 nfordia Gftkarsi @t smog & wRER seaer g g grfieRor &t wgt HifSl

4x3-6+2+7=8
Options:

1) -and +

- qAar+

2) x and —

X dr =

3) +and x

+dUTXx

4) x and +

X ddr +

Correct Answer: — and +
= ddgr +

Candidate Answer: — and +
- qur+

QID:15-1f3#4%8=6and9% 4 #3=12,then
12%6#24=2
E3#4%8=6qAT9%4#3=128,d

12% 6 #24="?

Options:

1)4

2)3

3)5

4)6

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID: 16-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

BT oy # Gy or Reedt ¥ oy e
(?) & TUE W H arell T4 B JEAT|

wlm| ®

=| ||~
| =] w

5 243




Options:
1) 14

2)15
3)16

4)18
Correct Answer: 15
Candidate Answer: 15

QID:17-
How many triangles are there in the given figure?

& o g 3 e Rager ¥

Options:
1) 32

2)34
3)37

4) 40
Correct Answer: 37
Candidate Answer: 37

QID : 18 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some boys are hardworking.
IIl. No intelligent are boys.

Conclusions:

I. Some hardworking are not intelligent.
IIl. All hardworking are intelligent.
Ill. Some intelligent are not hardworking.

A2t Rw 7T vden U @ &Y SR I d1 I Ul IR TR §© ey fag g &, gretifes 38 amr A1 aet § foradn g Fendt 81 goft fen ug ofk fhr Ruffa &R f fig
Qg & & feent &g 7T et & SR R giheiTd gl

hY:

|. P Fgeh Agdl &1
II. < FFGAT Tt T8 1

fArsenf:

|. ® Bgdt gfgH el &1
1. oft Ageeht gfgAm 81
1. & Ffga et T8t &1
Options:
1) Only conclusion (1) follows.
() w8
2) Only conclusion (1) and (l1l) follow.
Sharet fAweny (1) aur A (1) T8t 1
3) All conclusions follow.
gt frehy Tt 81
4) No conclusion follows.

g off ey Tgt 781 &1



Correct Answer: Only conclusion (1) follows.
Shaet et (1) Tt 81
Candidate Answer: No conclusion follows.

forsere gt T2 &1

QID: 19-
Three positions of a cube are shown below. What
will come opposite to face containing ‘$'?

& TR g A i g R w2 g ude

= 9 fule voF w #i @ e =
HTIAM?

Options:
1) %

2)&
3) 4

4) +
Correct Answer: &
Candidate Answer: &

QID:20-
In the given figure, how many people study only 2
subjects?

&r 9% Apfa A, forder ol chaw 2 g & uza €2

VRS B

Mathematlcsf 8 f>5\ Physmsf
IO / 17{; / gﬁﬁzﬁ feremer
f 1 ,/
\ 18 /
L T L
Chemistry /
THTHA-AMEH
Options:
1) 11
2)23
3)12
4)40

Correct Answer: 23
Candidate Answer: 23



QID: 21 -
Which answer figure will complete the pattern in the
question figure?

dld W IA HFA TH HHA & UawT S g
HT?

AN
? Y

Options:

=y
~

N
—

O A e

w
~

S
=

5

9
E A
>

> |2

Candidate Answer:

-




QID:22-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o I HEfad A ¥ 3@ IR He #® gAw
form & uy wgpla BT &

X

Options:
1)
N/
I\
2)
\
I\
3)
\/
X
4)

X

Correct Answer:

AV
/\

Candidate Answer:

AV
/\




QID: 23 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

#=r & ux apfaal A @ 3EER Fwe @
ABAT Teed JUT Wil & II¢ 9F hH SR AP
T e gam?

Options:
1)

N
—

A o ¢

w
~

S
=

Correct Answer:

<

Candidate Answer:

<




QID:24-

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg oo ZUuT FY AB YT WX @ &M, & & T3
T Fpfaat # @ il O Fela uy e A
e ufafesa gefre

(@ &
O_V
TITTTITT

Options:
1)

4)
O [>»O
O

Correct Answer:

@)

9

O O

Candidate Answer:

@)

9

o O




QID: 25-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘C" can
be represented by 10, 34, etc., and ‘D’ can be represented by 85, 98, etc.
Similarly, you have to identify the set for the word “STEAL”.

UE %G hael TS SEAT-EAE N1 oeiar Irm ¥ Shar s Reeut # @
it s 3 BT mar €1 et # Br o dmn-dep 3Rt & gy a9t
gRr getw e ¥, Star s f@u are o ancgpt & ¥ amegpl & T AR
Ufes T T 0 & 4 & 3T ey 5 F 91 39 R F U /R A
ueel SHAI Ufth IR @G A FoFH TEAT gRT GRIFT S WAl 1 SETeAo
& for ‘cr @ 10, 34, T R gRfAT ST Tehar § TAr ‘D @ 85, 98,
i gRT T S WhAT 1 W aic d uH uH H KU e
“sTEAL" & farw wep " ugaEaT &

Matrix-1 Matrix-ll
- Hregg-i
0(1(2]3|4 516|789
DIT|S|C|K|E o | P | D| Agmimiul
1|C K[E[T|S 6 | L | LiRES &l
21K E|S|C|T T [ 1 | ESuE—.
3|S|T|K|E|C 8 | D | SRS
4|E|C|T|S|K a|(A|"ElF.BA

Options:
1) 01,13, 04,76, 66

2) 14,31, 40, 95, 59
3) 22,42,21, 69,97

4) 43,24, 33,57,58
Correct Answer: 14, 31, 40, 95, 59
Candidate Answer: 14, 31, 40, 95, 59

QID : 26 - Which one of the following is a component of Food Security System?

frafafed & & -9 @Ter GR&M UUllel! &l b ¥eh 87

Options:

1) Buffer stock

T eR

2) Minimum support price
ATH T g

3) Fair price shops

I ge i g

4) Mid day meals

ALTE o

Correct Answer: Buffer stock
TREAT eR

Candidate Answer: Buffer stock

™ Ad HSR
QID : 27 - What is the accepted average Calorie requirement for rural area in India?

AR & UTHoT &5 & fory Srrasaeh sfad derl<t fehdt 82

Options:
1) 2100

2) 2200
3) 2300

4) 2400
Correct Answer: 2400
Candidate Answer: 2300



QID : 28 - Whose recommendation is mandatory to impeach the President of India from his office before the completion of his/her term?

TR o PR T I BRIHTE ! TG T Y FET T et o forg fonerent srgeia sifamd 82
Options:

1) The Prime Minister

RICEE

2) The Speaker of the Lok Sabha

I G Sieger

3) The Chief Justice of India

R & T =refier

4) The two houses of the parliament

TG & AT &

Correct Answer: The two houses of the parliament
TG & AT &

Candidate Answer: The two houses of the parliament
TG & AHT &

QID : 29 - How many types of writ are there in the Indian Constitution?

IR Gy § foha ueR & =1fiies s §2
Options:

Correct Answer: 5
Candidate Answer: 5

QID : 30 - Who has built the Vijay Stambha (Tower of Victory) in Chittorgarh?

fiteTe 7 I @ (STer ST foree) foham smamr am?
Options:

1) Maharana Pratap

HERIUM Tarq

2) Rana Kumbha

RTOTT T

3) Rana Sanga

TOTT T

4) Kunwar Durjan Singh

e gt e

Correct Answer: Rana Kumbha
RTOTT T

Candidate Answer: Rana Kumbha
RTOTT T

QID : 31 - Who raised the slogan “Swaraj is my birthright and | shall have it"?

Options:

1) Mahatma Gandhi

TETAT el

2) Subhash Chandra Bose
gy g I

3) Bal Gangadhar Tilak
EISKILIBIREE

4) Lala Lajpat Rai

EISIKISECEEK]

Correct Answer: Bal Gangadhar Tilak
1t TMeR feren

Candidate Answer: Bal Gangadhar Tilak
STeT TMER

QID : 32 - Which Indian state is the largest in terms of the total area covered ?

ITTheT 1 Gf¥ & TR AT T TT 75 i T 82
Options:

1) Maharashtra

HERTE

2) Madhya Pradesh

A TR

3) Rajasthan

STRYH

4) Tamil Nadu

BIECEIS



Correct Answer: Rajasthan
NSEIEE

Candidate Answer: Rajasthan
ST

QID : 33 - Which Indian state has the longest Coastline?

RS & oy o9 & U1 T ot 9fed de &7

Options:
1) Kerala
Eag

2) Gujarat

RSENG)

3) Andhra Pradesh
Eibgecel)

4) Tamil Nadu

GIECKEI]

Correct Answer: Gujarat
RSNG)

Candidate Answer: Gujarat

RSNG)

QID : 34 - Auxiliary bud develops into which of the following part of the plant?

frafafea & @ @ & g v & wefta seft faefia gidt 82

Options:
1) Fruit
el

2) Leaf
o=ft

3) Branch
T

4) Roots
e

Correct Answer: Branch
RUEE]

Candidate Answer: [ NOT ANSWERED ]

QID : 35 - Xylem helps in transportation of which of the following?

Stisem, fF=fofea & § forads uRaga & ggrrdT &ear 82

Options:
1) Food
e

2) Water
Cicil

3) Nutrients
Ui ded

4) Both food and water
T AT AT

Correct Answer: Water

Candidate Answer: Both food and water
IS qAT U &

QID : 36 - Who proposed five kingdom classification?

T ST aFffenvoT bt TaTe foha fam ar?

Options:
1) Ernst Mayr
S AR

2) R. H. Whittaker
IR, Tu. fegeaw

3) M. W. Beijerinck
TH. S5, SoIRAR
4) D. I. Ivanovsky
1. 3718, gaTIawh!

Correct Answer: R. H. Whittaker

IR, T, fegeaw
Candidate Answer: [ NOT ANSWERED ]

QID : 37 - What is the other name of Galileo's law of falling bodies?

fefiferat & fRa SRR & ot ofR fohg 9 & ST ST 82



Options:
1) Law of motion

Tita o1 e

2) Newton's first law

¢ ol uge ad

3) Newton's second law

e oA gERT |

4) Newton's third law

e o e e

Correct Answer: Newton's first law

e 1 uger

Candidate Answer: Newton's second law

e 1 gErT fam

QID : 38 - Which of the following device is best suited for measuring the temperature inside metallurgical furnaces?

FfafEa 3 8 @i a1 g5 a1g 9feai & sfer & I ot 719 & forg wed 3 82
Options:

1) Pyrometer

2) Thermocouple

3) Thermometer

4) Thermistor
iR
Correct Answer: Pyrometer

Candidate Answer: Pyrometer

QID : 39 - What is the full form of 'LAN'?

TA.Q. Q. T Srferd =9 a1 82
Options:

1) Line Area Network

ATg QR Aeadh

2) Linear Area Network

3) Local Area Network
et QRaT Feadh

4) Land Area Network
e o Aead

Correct Answer: Local Area Network

Candidate Answer: Local Area Network

wena QRaT Aeadh

QID : 40 - Which acid'is released when an Ant bites?

T Ueh Tl ehredt @, i fohe 317t eht Rerra giam 82

Options:

1) Hydrochloric Acid

RESESIeRcL]

2) Formic Acid

hiftes STt

3) Acetic Acid

Q@ oh SR

4) Phosphoric Acid

RIThIR 31T

Correct Answer: Formic Acid
TTeeh STFet

Candidate Answer: Phosphoric Acid
s 3

QID : 41 - Which among the following is an example of solid sol?

fF=fofea & @ &9y 319 e &1 e 3518107 82



Options:
1) Milk of magnesia

A fen
2) Foam
T

3) Coloured gemstones
M (3eT) TR

4) Rubber

TR

Correct Answer: Coloured gemstones
afiT (3eT) TR

Candidate Answer: Foam

QID : 42 - Which metal is responsible for Itai-Itai disease?

3CT3-3CT8 A AR & foTg i A7 4Tg IR giaT 82
Options:

1) Cadmium

2) Nickel

et

3) Chromium

4) Mercury
I

Correct Answer: Cadmium

Candidate Answer: Cadmium

QID : 43 - 'Vikalp' is a scheme launched by Indian Railways to help wait-listed passengers. Which of the following is NOT true about this scheme?

TR Yo gRT Titen Yefterg At & g 'fadhed' Amres At & 6t meh 81 Fefaf@a 3 § o a1 sy 59 gien & Je | a8 78 82

Options:

1) Confirmed berths in alternate trains.

A ¢l A Ich! hthd TE & SR

2) No-extra charges will be taken from passengers.
F & srfafh fonrar et [

3) Wait-listed passengers can avail opportunity of travelling in Rajdhani/Shatabdi/Special trains even when booking made is in other mail/express trains.
Teiter Yefterg Tt ot T/ QrdTedl/TreT ¢4 H ATAT BT SaTR IUTSY gl Tehdl &, SIich 3761 el AeT/Taruyg & # gfch il gS &1
4) Vikalp scheme will be initially available for e-tickets only.

et §-feche TR & Uy gt

Correct Answer: Confirmed berths in alternate trains.
I &A1 A ST heRd TE <& St
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - Who discovered the Cholera causing germ?

& & Aoy < it Far 1 o2

Options:
1) Filippo Pacini
fORferot afes-t

2) Robert Koch

A g

3) M. Laveran

TH. AR

4) Felix Hoffman

Thfcrar gTa

Correct Answer: Filippo Pacini

Candidate Answer: Robert Koch



QID : 45-
Match the following.

Freatataa o G fiET
Player | fT@remér Sport | @
1. Mithali Raj a. Hockey
et = gier
2. Poonam Rani b. 3000 m Steeplechases
ol 3000 . s o gl
3. Lalita Babhar c. Cricket
wferar ame e
Options:
1) 1-c, 2-b, 3-a
2) 1-a, 2-b, 3-c
3) 1-a, 2-¢, 3-b
4) 1-c, 2-a3, 3-b

Correct Answer: 1-c, 2-a, 3-b
Candidate Answer: [ NOT ANSWERED ]

QID : 46 - 'Hunar Haat' an exhibition to exhibit and promote the arts and artisans from minority community was launched at which of the following events?

SR TG & Shell a7 FRIcuer] &t T & & forg 'R g1e’ vesiHt mfafaa & § fraw eriern & smeer &y mar am?
Options:

1) Pushkar Fair, 2016

IRz Jell, 2016

2) IITF, New Delhi, 2016

IITF, 718 feeeht, 2016

3) Suraj Kund Craft Mela, 2017
ToTHe g&fIed #a, 2017

4) Kumbh Mela, 2015

g AT, 2015

Correct Answer: IITF, New Delhi, 2016
IITF, 7% f&e=h, 2016

Candidate Answer: [ NOT ANSWERED ]

QID : 47 - Which movie won the award for the best movie at the Oscar Awards 2017?

3Tt YRR 2017 & &1 &Y fOher = T4 fthed ol GRERR Sfar?

Options:

1) La La Land

SIKSIES

2) Arrival

ENECE)

3) Moonlight

BRRIE

4) Manchester by the Sea
AR A g

Correct Answer: Moonlight

LGSR
Candidate Answer: [ NOT ANSWERED |

QID : 48 - Who is the author of the book titled 'Citizen and Society'?

RIS vue rargdl A fhdrd & oad @i 87

Options:

1) Pranab Mukherjee

lcks el

2) Hamid Ansari
SRy

3) Nandan Nilekani
e fAetenfor

4) Satyajit Ray
gsfid ¥

Correct Answer: Hamid Ansari
gIfAg Rt

Candidate Answer: Nandan Nilekani
e



QID : 49 - With which country India has recently signed a MoU for Water Conservation in India?

ORI 3 1T &1 A fohg 71 & 1y RA A STeT TRETUT & forg gugiiaT st foham 82

Options:
1) France
i

2) Germany
STHAT

3) Israel
ESNEC)
4) Bangladesh
Eisical]

Correct Answer: Israel
ORI

Candidate Answer: [ NOT ANSWERED ]

QID : 50 - Which among the following neighbouring country of India is the largest producer of Opium in the World?

fAfafEa 7 @ R & sl TT TSR 327 SThiH ot Taffdes Icured 872

Options:
1) Pakistan
TfREaT

2) Afghanistan
CERIESIC]

3) Sri Lanka
sl

4) Maldives
AT

Correct Answer: Afghanistan
SRR

Candidate Answer: Pakistan

QID : 51 - How many numbers are there from 300 to 650 which are completely divisible by both 5 and 7?

300 & 650 deh QT fohaNt Heeamd & Sit 5 d1 7 a1 § gofa: e nfoa gidt 82
Options:

18

2)9

3)10

4)12

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 52 - Raman can do a work in 5 days, Jatin can do the same work in 7 days and Sachin can do the same work in 9 days. If they do the same work together and
they are paid Rs 2860, then what is the share (in Rs) of Raman?

T Ueh i ot 5 & A &z TehelT &, SifaeT It o ot 7 o A o Gehar & aur I S ol ot 9 3T A o T 81 I a8 59 o ol any § o & o forg 3= 2860 3. T S
g, @ o9 o7 fen (%, 7) fopamn ghm?

Options:

1) 1260

2) 700

3) 900

4) 870

Correct Answer: 1260
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - If the diameter of a sphere is 14 cm, then what is the surface area (in cm?) of the sphere?

Ife Gen et o1 e 14 .. 8, &t et o gefta Srhet (3.#1.2 F) fvar gh?

Options:

1) 616

2) 308

3) 462

4) 636

Correct Answer: 616

Candidate Answer: [ NOT ANSWERED ]

QID : 54 - After two successive discounts of 20% and 35%, an article is sold for Rs 50700. What is the marked price (in Rs) of the article?

20% T 35% I & Shitich e o a1G Ueh a%g aht 50700 3. H ST ST & | a%g a1 Sifehd 7ea (3. H) 1 82



Options:
1) 92500

2) 98500
3) 97500

4) 94000
Correct Answer: 97500
Candidate Answer: [ NOT ANSWERED ]

QID : 55 - Rs 3200 is divided among A, B and C in the ratio of 3 : 5: 8 respectively. What is the difference (in Rs) between the share of B and C?

3200 %. Y A, B 3T C & off ghAst: 31U 3 : 5: 8 H dfer ST7a1 81 B 27 C & fRed # fopaan iR (. ) 82
Options:

Correct Answer: 600
Candidate Answer: 600

QID : 56 - The average of 5 members of a family is 24 years. If the youngest member is 8 years old, then what was the average age (in years) of the family at the time
of the birth of the youngest member?

Ueh URAR o 5 Gewl &l ad o1y 24 ay 31 afk 9ad Bi awa &Y 9y 8 o g, o Tad BI 9w & S+ o THY URAR i $iad o1y (9wt #) om oft?

Options:

1)16

2) 20

3)24

4)32
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 57 - If the price of pen decreases by 20%, then a man can buy 10 more pens for Rs 100. What is the new price (in Rs) of each pen?

Ifg et Y Hea 7 20% 6t wHt g1l &, t ves cafxh 100 3. 7 10 Ferm ifdeh Wte TerdT &1 U herd i T3 HFd (3. 7) 1 8?
Options:

1)1

2)2

3)4

4)5
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]|

QID : 58 - After deducting 60% from a certain number and then deducting 15% from the remainder, 1428 is left. What was the initial number?

foneft Tieam # 60% el ehetelt et S IURTA dT T g5 T | fOR & 15% Y dheldl et TR 1428 AW I ST1al & | TRfeh Team am off?

Options:
1) 4200
2) 3962
3) 4150
4) 4300

Correct Answer: 4200
Candidate Answer: [ NOT ANSWERED ]

QID : 59 - A train travels 40% faster than a car. Both start from point A at the same time and reach point B, 140 km away at the same time. On the way the train takes
25 minutes for stopping at the stations. What is the speed (in km/hr) of the train?

ek IEATET Ueh R © 40% a1 Iercht g1 a1 foig A & e & 99 R IR &hed & 2T 140 {36+t oz o fiig B R uek €t wm ugad &1 anf & Femmet Rt iR T & forg 25 fime
ot &1 Jermet i wifay (6. Y. wfey gt 8) &2

Options:

1) 67

2)134.4

3)145.9

4) 160
Correct Answer: 134.4
Candidate Answer: [ NOT ANSWERED |



QID : 60 - A certain sum of money triples itself in 5 years at simple interest. In how many years it will be five times?

5 a9t H o Y 0fY Qremor st i @ 8 W 1 A AT 81 ST 8| v st | ag ore T 8t smef?

Options:
1)5

2)8
3)10

4)15
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]

QID: 61 - If x + (1/x) = 2, then what is the value of x4 + x121?

e x + (1/x) = 2, a x64 + X127 &7 777 ghr?
Options:

Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

QID:62-

If x=6+2«f§,then what is the value of yx—1+ 7

-1
Bl 1

T x=6+26,ar Jx-1+

T AT FT &7

34

X =
Options:
1) 2v3
2) 3v2
3) 2v2

4)3v3
Correct Answer: 2v3
Candidate Answer: [ NOT ANSWERED ]

QID: 63-If a+b+c =27 then what is the value of (a = 7)3 + (b - 9)3 + (c - 11)3 = 3(a = 7)(b - 9)(c - 11)?

gRa+b+c=27,@(@-7)3+(b~-9°3+(c-11)%-3(=-7)(b-9)(c - 11) & & R &?

Options:
1)0

2)9
3)27

4) 81
Correct Answer: 0
Candidate Answer: 0

QID: 64 -

215

If x=—=———then what is the value of XD ¢X+J§‘?

A3+4/5" MBS

T x- ZJ'E X+~J’§+X+J§
{35 Rl X8

T AT FIT B?




Options:
1) V5

2)V3
3)v15
42

Correct Answer: 2
Candidate Answer: 2

QID : 65 - The perimeter of an isosceles triangle is 32 cm and each of the equal sides is 5/6 times of the base. What is the area (in cm?) of the triangle ?

Tk TfgaTg eyt o1 afRmATa 32 Y. § T IR T SRISR ST &k SMUR &Y 5/6 AT &1 Brayet o1 ehet (J.71.2 #) fem &2

Options:

1) 39

2) 48

3) 57

4) 64

Correct Answer: 48

Candidate Answer: [ NOT ANSWERED |

QID : 66 - If length of each side of a rhombus PQRS is 8 cm and 2PQR = 120°, then what is the length (in cm) of QS?
i gHEgST PQRS & Ucdeh 9T &t oS 8 T.HY. § JUT £PQR = 120°, @ QS &l &g (R.+1. #) rm ghf?

Options:
1) 4V5

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

QID: 67 -
In the given figure, ABC is a triangle. The bisectors
of intemal /B and extemal /C interestat D. If
ZBDC =48°, then what is the value (in degrees) of
ZA?

& 7% pfa #, ABC 1 YT 81 £B dur O
£C @ frwe iy Dupuldese @ &1 af
/BDC =48° &u@l /A & AT (2t &) @am &2
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B C
Options:
1) 48
2) 96
3) 100
4) 114

Correct Answer: 96
Candidate Answer: 48



QID : 68 -
In the given figure, O is the centre of the circle and
ZDCE = 45°. If CD = 1042 cm, then what is the
length (incm) of AC - CB = BD

A T M A, OqF & HF &, A ~DCE = 45°
gl ofz CD = 1002 @A & O AC fr wFas
(@7, #) F1 %2 CB = BD
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D
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C E
Options:
1) 14
2) 15.5
3)18.5
4) 20

Correct Answer: 18.5
Candidate Answer: [ NOT ANSWERED |

QID: 69 -
3 - sin2 A
What is the simplified value of =————7%
P 1+cos2 A
sin2A
—_  fFT 'H!E"II@H Hicl =T &7
1+cos2A %
Options:
1) tan A
2) cot A
3)sin A
4) cos A

Correct Answer: tan A
Candidate Answer: [ NOT ANSWERED |

QID:70-

c 2
What is the simplified value of | — =24 | 2
cot A +tan A

cotA+tan A

[ﬂlzaﬁrmﬁﬂﬁrmm%‘?



Options:
1)1 - cos2A

2) 2sin?A
3) sec?A
4) cosec?A

Correct Answer: 1 — cos2A
Candidate Answer: [ NOT ANSWERED ]

QID : 71 - What is the simplified value of 1 + tan A tan (A/2)?

1 +tan A tan (A/2) &1 G=elichd A T 82

Options:
1) sin A/2

2) cos A
3)sec A

4) sin A
Correct Answer: sec A
Candidate Answer: [ NOT ANSWERED ]

QID:72-

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.

There are total 1200 shoes.

= fqr av g7 Ry & oF gemE gEE W 5
fafees smost & St fr g=m Fr i W g

T@ FHer 1200 ST &

Puma/ Ve
=g
S 13%
21%
Nike /
CIEEDS
18% Reebok/
FEIED
23%

didas/

25%

How many shoes are there of Reebok brand?

Haifer STUS & fehe S &2
Options:

Correct Answer: 276
Candidate Answer: 276



QID:73-

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

dr fow w1 g9 Rg F ve wgevs gEE W5
faffesr st & s@r & wEr Fr g =

Tgr e 1200 ST &

Puma/

AT
21%

Nike /

FAT=HT

18%

Vans/
Eee)
13%
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ofEem
25%

Reebok/

FIEICT
23%

What is the difference in number of shoes of Puma and Vans?

AT qAT 4 o S[dl chl Eedm # feher 3feiR 872

Options:

Correct Answer: 96
Candidate Answer: 96




QID:74-

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

dr fow w1 g9 Rg F ve wgevs gEE W5
fafees svst & St fr g Fr v m g
Tgr e 1200 ST &

Puma/ vensy
==
L 13%
21%
didas/
Nike / 259
(1]
FAT=HT
18% Reebok/
frats
23%

The difference between the number of shoes of Reebok and Nike is same as the difference between which of the following two brands?

Jaiter aUT ATFR UL & ST & T Y T 1 siaR FEffed & @ fohe &t smuet & St & i 6 Heear o Siar & 99 87
Options:

1) Puma and Adidas
AT AT GEIST

2) Reebok and Adidas
9T qur TSs™

3) Vans and Nike

=g qr

4) Nike and Adidas
ATgehT JUT SIS

Correct Answer: Vans and Nike

&= T ATgh

Candidate Answer: Vans and Nike
ERikRIl



QID:75-

The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

dr fow w1 g9 Rg F ve wgevs gEE W5
fafees svst & St fr g Fr v m g
Tgr e 1200 ST &

Puma/ vensy
==
L 13%
21%
didas/
Nike / 259
(1]
FAT=HT
18% Reebok/
frats
23%

Puma shoes are how much percent more than the Nike Shoes?

e 2 o AT 3 ST @ e R ieh &2

Options:
1) 14.28

2)16.66
3)25

4) 21.33
Correct Answer: 16.66
Candidate Answer: 16.66

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select'No Error'.

No sooner did | come ‘out of my home to go to market (1)/ when it started raining heavily (2)/ which drenched me completely. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 1

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Unless you don't obey (1)/ your elders you (2)/ will not succeed in your life. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 1

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Fourteen kilometres not a short distance, to reach to my office daily.




Options:

1) are

2) has

3) have

4)is

Correct Answer: is
Candidate Answer: have

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Good reading the sense of liberal educated mind.
Options:

1) beliefs

2) leads

3) reflects

4) starts

Correct Answer: reflects

Candidate Answer: leads

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Frivolous

Options:

1) Captious

2) Wise

3) Puerile

4) Spiritual

Correct Answer: Puerile

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Petrify

Options:

1) Adorn

2) Calm

3) Curious

4) Harden

Correct Answer: Harden

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Gregarious

Options:

1) Affable

2) Genial

3) Introvert

4) Urbane

Correct Answer: Introvert

Candidate Answer: Affable

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Tremulous

Options:

1) Feeble

2) Frugal

3) Stable

4) Vital

Correct Answer: Stable

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

The alpha and the omega

Options:

1) Happy and sad

2) The beginning and the end

3) The love and the hatred

4) Truth and dare

Correct Answer: The beginning and the end

Candidate Answer: The beginning and the end



QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Throw up the sponge
Options:

1) To attack

2) To laugh at someone
3) To surrender

4) To talk loudly

Correct Answer: To surrender
Candidate Answer: To laugh at someone

QID : 86 - Improve the bracketed part of the sentence.

I had (a few) eggs in the fridge, so we need to go to the market to buy them.
Options:

1) a little

2) few

3) little

4) No improvement

Correct Answer: few

Candidate Answer: few

QID : 87 - Improve the bracketed part of the sentence.

My brother is indifferent (about) whatever | say.
Options:

1)in

2) of

3) to

4) No improvement

Correct Answer: to

Candidate Answer: in

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A funeral poem
Options:

1) Elegy

2) Pandemonium
3) Parody

4) Sonnet

Correct Answer: Elegy
Candidate Answer: Elegy

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who walks in sleep
Options:

1) Drover

2) Fastidious

3) Numismatist

4) Somnambulist

Correct Answer: Somnambulist

Candidate Answer: Somnambulist

QID : 90 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Gaurantee

2) Itinerary

3) Magnificent

4) Writing

Correct Answer: Gaurantee

Candidate Answer: Gaurantee

QID : 91 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Etiquete

2) Exquisite

3) Restaurant

4) Scavenger

Correct Answer: Etiquete

Candidate Answer: Restaurant



QID : 92 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

P-But he did not know how to find one at that hour.

Q-It was his first visit to the city and he didn't know where to go.
R-Mohanlal's train was late and it reached Kolkata a little after midnight.
S-He thought he would go to a choultry where he would not have to pay rent.
Options:

1) PSQR

2) QRSP

3) RQSP

4) RSQP

Correct Answer: RQSP

Candidate Answer: [ NOT ANSWERED |

QID : 93 - The question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical
order of sentences from among the options.

P-And slowly, you reach the pinnacle of self-awareness, experiencing a unity with all life.
Q-If you transform your energy positively, it naturally becomes compassion and love.
R-Once you experientially are a part of everything then nobody needs to teach you morality.
S-Then you can do something to improve the situation, but without anger.

Options:

1) PQRS

2) QPRS

3) RQPS

4) RSPQ

Correct Answer: QPRS

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Ram was singing a beautiful song for his mother.
Options:

1) A beautiful song was being sung by Ram for his mother.
2) A beautiful song was sang by Ram for his mother.

3) A beautiful song was sung by Ram for his mother.

4) A beautiful song was sung for his mother by Ram.

Correct Answer: A beautiful song was being sung by Ram for his mother.
Candidate Answer: A beautiful song was sung by Ram for his mother.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

Priya advised me not to go to school the next day.
Options:

1) "Don't go to school next day" Priya said to me.

2) "Don't go to school tomorrow" Priya said to me.
3) Priya said, "Will you not go to school tomorrow?"
4) Priya told me that, "Don't go to school tomorrow."

Correct Answer: "Don't go to school tomorrow" Priya said to me.
Candidate Answer: Priya told me that, "Don't go to school tomorrow."

QID : 96 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

Job performance is
Options:

1) affected

2) effected

3) influenced

4) measured
Correct Answer: affected

Candidate Answer: affected

by a number of factors. Motivation alone

QID : 97 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

motivation and performance. The higher the levels of ability and motivation the the level of performance will be.




Options:
1) higher
2) larger
3) lower
4) smaller

Correct Answer: higher
Candidate Answer: lower

QID : 98 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

However, increasing motivation beyond an level
Options:

1) certain

2) desired

3) increased

4) optimal

Correct Answer: optimal

Candidate Answer: certain

QID : 99 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

tends to a dysfunctional result
Options:

1) deduce

2) introduce

3) produce

4) reduce

Correct Answer: produce

Candidate Answer: produce

QID : 100 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Job performance is by a number of factors. Motivation alone does not lead to increased performance. Ability and technology moderates the relationship
between motivation and performance. The higher the levels of ability and motivation the the level of performance will be. However, increasing motivation
beyond an level tends to a dysfunctional result because it is by an increased level of anxiety.

because it is
Options:

1) abandoned

2) accompanied

3) affiliated

4) amalgamated

Correct Answer: accompanied

Candidate Answer: amalgamated

by an increased level of anxiety.





